LOS ANGELES AREA	CERT	FIFICATE	OF ORI	GIN ORIGINAL		
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Number : LA-COO-43499-65f1af74335bc VERIFY.FTGS.US Date : March 13, 2024					
Seller (Exporter) Dutch Apparel, LLC 801 South Figueroa Street suite 2500 Los Angeles CA 90017	Air		Los Angeles	Port of Loading Los Angeles Destination Port Istanbul		
USA	Export Date	*	Exporting Car	rier		
Consignee VAKKO TEKSTIL VE HAZIR GI YIM SAN.ISLAS-ALTUNIZADE, MAHLLESI KUSBAKISICADDESI,	Import Permi	t Number *	Bill of Lading	/ AWB		
NO: 35 34665 NAKKASTEPE, USKUDAR IB 34665 Turkey	Owner or Age		Forwarding A			
Buyer (Importer)						
Description (May include notes on Quantity, Item Number, Marks and Numbers, LADIES 100% SILK WOVEN BLOUSES _ PO# CORE JAN 24 _		es.)	Weight	Country of Origin		
H.S.Code: 6206100040						
CERTIFICA Accredited CI	TE OF ORIGIN hamber US2100201	 The above-mentioned goods origit origin applicable in the country (les -The information in this certificate Commerce ("LAACC") is accurate, the -The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or cha -The Applicant will maintain, and p truth, accuracy and completeness -In consideration for the LAACC's is 	nate in the country(ies) specifi to those goods. and in any documents provide rue and complete. e LAACC and any other person ate is provided to with the knc nge in such information, or in resent upon request, such doc of this certificate and accomp ssuance of this Certificate, the pility in connection with the is: for claims made against LAAC	cumentation as is necessary to verify the panying documents. e Applicant agrees to release, discharge and suance of this certificate and to indemnify CC in connection herewith.		

DUTCH APPAREL, LLC

801 S. FIGUEROA STREET, SUITE 2500 LOS ANGELES, CA 90017, USA TEL : 323 780 8250

COMMERCIAL INVOICE

INVOICE NO.	:	6216172			
DATE	:	6 MARCH, 2024			
SHIPMENT FROM	:	UNITED STATES			

Ship to: VAKKO TEKSTIL VE HAZIR GI YIM SAN.ISL.A.S. SANAYI MAH.1673 SOK.NO:25 34517 ESEYURT ESENYURT IB 34517

Bill to: VAKKO TEKSTIL VE HAZIR GI YIM SAN.ISLAS-ALTUNIZADE MAHLLESI KUSBAKISICADDESI NO: 35 34665 NAKKASTEPE USKUDAR, IB 34665

PO# CORE JAN 24 ORDER # 6216172

DESCRIPTION OF GOOD

BRAND) STYLE #	COLOR CODE	COLOR	DESCRIPTION :	coo	HTS	QTY	UNIT PRICE(USD)	AMOUNT (USD)
EQ	2661E231	NWTB	NTR WHT TR BL	LADIES 100% SILK WOVEN BLOUSE	CHINA	6206.10.0040	34	\$133	US\$4,522.00
EQ	L21E035	NAWT	NATURE WHITE	LADIES 100% SILK WOVEN BLOUSE	CHINA	6206.10.0040	34	\$133	US\$4,522.00
EQ	L21E035	TRBK	TRUE BLACK	LADIES 100% SILK WOVEN BLOUSE	CHINA	6206.10.0040	34	\$133	US\$4,522.00
EQ	Q23E900	BRWT	BRIGHT WHITE	LADIES 100% SILK WOVEN BLOUSE	CHINA	6206.10.0040	34	\$113	US\$3,842.00
EQ	Q23E900	TRBK	TRUE BLACK	LADIES 100% SILK WOVEN BLOUSE	CHINA	6206.10.0040	34	\$113	US\$3,842.00
EQ	Q2982E900	BWBA	BRI WHT - TRUE BLACK	LADIES 100% SILK WOVEN BLOUSE	CHINA	6206.10.0040	34	\$133	US\$4,522.00

TOTAL TOTAL QTY. TOTAL NO OF CARTONS GROSS WEIGHT CARTON DIMENSION \$25,772.00 204 2 75 LBS 29 X 17 X 12 INCH

DUTCH APPAREL, LLC



LA-C00-43499-65f1af74335bc/March 13, 2024

······	İHRACATÇI KAYIT FORMU EXPORTER REGISTRY FORM
Legal Title*	DUTCH APPAREL, LLC
Business Title**	DUTCH APPAREL, LLC
Address*** 1. Line	801 S. FIGUEROA STREET, SUITE 2500,
Address 2. Line	
Address 3. Line	
City	LOS ANGELES
State/Province/Region	CA
ZIP	90017
Country	UNITED STATES
Phone Number	1-3237808250
Fax Number	
URL	
E-mail	Winnie.Au@sunrisebrands.com
Tax Authority	Confidential
Tax Registry Number	Confidential
Number of Employee (Yearly average)	Confidential
Total Sales in USD (last year)	Confidential
Year of Establishment	Confidential
Legal (Corporate) Status	LLC
International quality certificates owned and their registry numbers	
Countries products are exported	i to
Export country(ies)	Product(s)
Turkey	Apparels
	ation presented above is correct and verifiable.

Name, surname and title in the company	Winnie Au, SVP of Finance
Company stamp and sing of the authorized person	

*The title that company is registered to. **The title appears on invoice.

***Legal address that headquarters is legally registered.



EQUIPMENT

STAND ALON 2/29/24 5125 S Wheeler Ridge Rd Date 1 Page 81262 **Tejon Ranch** 93203 SoldTo Store Terms PO Date Ship To **Bill To** PREPAID 12/11/23 VAKKO SANAYI Start Date Purchase Order No. Factor Approval. Dept No VAKKO TEKSTIL VE HAZIR GI VAKKO TEKSTIL VE HAZIR GI **CORE JAN 24** 022824CW YIM SAN.ISLAS-ALTUNIZADE YIM SAN.ISL.A.S. Requested Date. Complete Date. Order No. Freight Terms MAHLLESI KUSBAKISICADDESI SANAYI MAH.1673 SOK.NO:25 2/28/24 6216172 COLLECT 12/11/23 NO:35 34665 NAKKASTEPE 34517 ESEYURT VIA. Sales Rep USKUDAR, IB 34665 **ESENYURT, IB 34517 SEE ROUTING GU JACLYN ELLERT-BU** Totals # CTNS SIZES Clr Style XXS XS S L $\mathbf{X}\mathbf{L}$ XXL XXXL 4X 5X М 34 L21E035 NAWT 5 12 12 5 EQ-SIGNATURE L21-E035 NATURE WHITE XXS XS XL XXL XXXL 4X 5X S М L 34 TRBK L21E035 5 12 12 5 EQ-SIGNATURE L21-E035 TRUE BLACK 5X XXS XS S Μ L XL XXL XXXL 4X 34 Q23E900 BRWT 5 12 12 5 **EO-ESSENTIAL** L21-E035 BRIGHT WHITE

XXS XS XXL XXXL 4X 5X S М L XL 34 Q23E900 5 TRBK 12 12 5 **EQ-ESSENTIAL** L21-E035 TRUE BLACK 5X XXL XXXL 4X XXS XS S М L XL 34 02982E900 BWBA 5 12 12 5 EQ-ESSENTIAL L21-E035 BRI WHT - TRUE BLACK

CONTINUED ON NEXT TICKET

		e								
							Total			
Picked By.	No of Ctns	Weight	Freight	Other Charges	Date Shipped	Packed By	B.O.L. No	Inv	oice No	
	2	75	PAXITXI2	_						

1/01/24





Picking Ticket

STAND ALON



Bill To VAKKO TEKSTIL VE HAZIR GI YIM SAN.ISLAS-ALTUNIZADE MAHLLESI KUSBAKISICADDESI NO:35 34665 NAKKASTEPE USKUDAR, IB 34665		r	Ship To	VAKKO		PREPAID	12/11/2
		VAKKO TEKSTIL VE HAZIR GI YIM SAN.ISL.A.S. SANAYI MAH.1673 SOK.NO:25 34517 ESEYURT ESENYURT, IB 34517					Approval. Dept No Start Dat 24CW 1/01 te Date. Order No. Freight Terr 6216172 COLLECT Sales Rep JACLYN ELLERT-BU
Style Clr			SIZES	L		Total	
2661E231 EQ-SLIM SIGNATURE	XXS XS S 5 12	M L XL 12 5	XXL XXXL 4X 5X 20-0-002661-E231				34
SHIPINFO-COURIER AN SHIPINFO-COURIER AN SHIPFATADOCOURTER GH PENDS ONWGT, DM PR	PACCO UNT#		HT FORWR DPENDS		Total	204	
Picked By. No of Ctns	Weight Freig	ht Other Charge	Date Shipped	Packed By B	.O.L. No		nvoice No